CHY 3139
BIO_cHEMTSTRY (2006 /0 %)

Assesoment 1654 - Answer duide

D (" pG’° =-RT UnKeg
DG = - (3.214 Tmot" ) (298 k) 4n 1.97)
& = 1 F KT mol™

A | '
. (lzl/ At a given +QmP€fa+Uf€. , the value o¢ DG for any reaction

fired- ond defined for a standord condition - NG )
and product concentrations.

DG = D&+ RT UInk
b6 = (13 x10° Tmo™) & (8314 Tmol"k™ x 298 K X in (J__S_))
Ba = ~2413 Tmo™ 20

| G) 86 = —pT Un Keoq

Keg volue & defined ot a perticu lar temperoiure. when

temperature s changed Kg, also cho\nﬂ@d- b6 win algo
Chqnged-

This IS8 4ne process  shich aynthe 8'yye ATP uS:'f>j the free
energy generoted by the flow of electrong.

(ii) ITn the 5uyconfsls 2 moles of NADH is formed. Depending
on the ghuttle , the producton o4 ATP after qlycolysis
can be voried: When glyeevol 3 phosphate ghuittie
operat€S 1 NADH molecule produce 2 ATP molcules:
when malate aspartate shuttle operat€s | NADFH
molecule produce = ATP moleculesS. In ao!d."h'on. in glycolys
2 ATP molecules form. Al {oﬂe.ﬂqgr when glycerol 3 |

PhoSphate ghuittle s used 6 ATP and malode ospa rdate
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